Division par Puissances de Dix (H)

Trouvez chaque quotient.

6+ 1000= 99 - 100 =
70 100 = 19 +10 =
74 - 10 = 6+ 100 =
11 +100 = 39 +-10=
1+10= 60 -1 000 =
4 +10 = 10 - 100 =
46 -1 000 = 47 =-1000 =
31+100= 77 =1000 =
85+ 10 = 19 +-1000 =
43 =~ 10 = 14 = 10 =
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Division par Puissances de Dix (H) Solutions

Trouvez chaque quotient.

6+ 1000 = 0,006 99 + 100 = 0,99
70 + 100 = 0,7 19+10=1,9

74 + 10 = 7,4 6 + 100 = 0,06
11+100=0,11 39 +10=3,9
1+10=0,1 60 + 1 000 = 0,06
4+10=0,4 10 =100 =0,1

46 + 1000 = 0,046 47 +1 000 = 0,047
31+100=0,31 77 + 1000 = 0,077
85 + 10 = 8,5 19 + 1000 = 0,019
43 +10=4,3 14+10=14
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